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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Literature in English 9695, and to show how different levels of candidates’ performance (high, middle and low) relate
to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen from the June 2021 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These
files are:

9695 June 2021 Question Paper 11

9695 June 2021 Mark Scheme 11

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses -— Paper 1

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in

the right-hand column are the examiner comments.

Example Candidate Response — middle

Examiner comments

The candidate addresses the

task (C) in a general introduction,

but they do not contextualise the
passage (K).
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Answers are by real candidates in exam conditions.
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in
the classroom to improve their skills.

How the candidate could have improved their answer

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you
to interpret the standard of
Cambridge exams so you can
help your learners to refine
their exam technique.

N J

» To improve their answer, the candidate needed to focus more on the details of the passage given, with a clearer
and more developed interpretation of how the relationship developed and why it was significant to the play.

» The candidate could have provided more detailed development of ideas and considered other dramatic methods,

such as tone and action and their effects.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

+ Some candidates lost sight of the question. They needed to keep it firmly in focus and explore some of the details

of the passage in an analytical way.

» Some candidates did not construct their arguments or develop their interpretations fully enough, and needed to

analyse some of the details of the passage.

+ Many candidates did not look widely enough at other dramatic methods beyond the language and the stage
directions, such as tone and action. Many candidates did not consider the context of the passage when

constructing their answers.

Often candidates were not awarded
marks because they misread or
misinterpreted the questions.

Lists the common mistakes candidates made

in answering each question. This will help your
learners to avoid these mistakes and give them
the best chance of achieving the available marks.
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Question 1(b)

Example Candidate Response — high Examiner comments

1 o Each level in the marking criteria is
divided into strands corresponding
to the assessment objectives

AO1: Knowledge and understanding
(K/U)

B _,} /__| | AD2: Analysis (AN)
y __{ | AO3: Personal response (P)
| | AO4: Communication (C)

| These areas are highlighted in the
1 | comments below.
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‘buml WL_MMM_ “He_Aalles
M- Lo »__uéa(_(.’m&mzw_'. :

The candidate opens with a
general introduction (C) that has
contextual relevance (K), but they
need to shape it to the task (C).

The candidate offers their
own opinion (P) and shows some
| awareness of the methods used
(AN).

e The candidate demonstrates
very good expression which is

g - \ft i precise and pertinent (C).
OYJ*M;&OM_-LQL—A-”—M—WLMM@)L .@MﬂL...Cﬂ_Aﬁk%— o The candidate shows an
have dois yCnaipaidt - | excellent understanding of the

| situation (U) and some analysis of
the plot (AN).

@ The candidate offers an
interpretation of the roles (P and
| AN).

e The candidate supports their
" | answer with evidence from the

.| wider text (K) and develops their
interpretation (P).

e The candidate considers

the methods the writer uses and
shows they are aware of the
construct (AN). They also show
an understanding of the dramatic
situation in the text (P and U).




Example Candidate Response - high, continued Examiner comments
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Example Candidate Response - high, continued Examiner comments

@ The candidate links the plot
strands very well and keeps their
focus on the task and passage
(C). Their argument is powerfully
developed (P) and demonstrates
very good understanding and
support (K and U).

@ The candidate offers a
summative conclusion which
focuses on the question and has
a strong sense of bringing the

./,L\\Em wjmfl’[m MQQ‘WZZ ' ad' argument to a conclusion (C).
| ___@&*%_ Mm y :_:E @ The candidate focuses on the

task, integrates the wider text and
offers a sophisticated and informed
interpretation of the text which

is supported by a detailed and
perceptive analysis.

Total mark awarded =
23 out of 25

How the candidate could have improved their answer

To improve their answer, the candidate needed to show a more focused and specific contextual awareness and offer
more analysis of some of the details of the passage, including other dramatic methods, tone and action.
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° The candidate addresses the
task (C) in a general introduction,
but they do not contextualise the
passage (K).

The candidate offers an opinion
(P), supports this with a reference
to the passage (K) and begins to
analyse the effects (AN).

e The candidate develops the
interpretation of Ann in relation to
the question (P and C).

o The candidate demonstrates
a secure knowledge of the text (K)
and a sound understanding of the
dramatic situation (U).

e The candidate is aware of the
construct (AN) and develops their
interpretation with the question in
focus (C).

@ The candidate shows a secure
understanding of the dramatic
concerns and situation here (K and
U).
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Examiner comments

The candidate develops their
interpretation (P) and keeps the
question in focus (C) in their answer.

@ The candidate keeps the
construct in mind (AN) and suggests
some possible alternative views (P).

@ The candidate demonstrates a
secure understanding of language
and its effects (U and AN).

@ The candidate makes a
competent analysis of Ann’s
language and its effects (AN).

m The candidate keeps Miller in

. | mind and is aware of the construct

(AN).

10




Example Candidate Response — middle, continued Examiner comments

%LmMjL_&a o dceckion.
re. la}/mnglnm wm,LPvu; wl\am 1723 —%—_ﬁ

oo_cource._of 3m1f -@f_;\r_kniec__\_s___)rauﬂ}t\f&___uf.._@ @ The candidate provides a

: : summative rather than conclusive

® add o —fmm)p relodionchips_com_be . final paragraph, but they do refer to
@ , — i | the terms of the question (C).

@ The candidate shows a secure
understanding of this passage and
at times shows an understanding of
its significance, with an integrated
reference to the wider text (K and
U). They show some independence
in their interpretation (P) which is
generally well supported (K and

C) and offer an analysis of some
aspects of the language (AN) and
partly an anlaysis of their effects.

Total mark awarded =
15 out of 25

How the candidate could have improved their answer

+ To improve their answer, the candidate needed to focus more on the details of the passage given, with a clearer
and more developed interpretation of how the relationship developed and why it was significant to the play.

» The candidate could have provided more detailed development of ideas and considered other dramatic methods,
such as tone and action and their effects.

1
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Example Candidate Responses — Paper 1

Examiner comments

The candidate begins their
answer with a general introduction
(C), though their opinion is related to
the task (P).

@ The candidate begins to
analyse the methods used (AN)
and the view of the roles of Ann and
Kate (P).

e The candidate makes an

" | allusive reference to the letter which

suggests they have some textual
knowledge (K).

@ The candidate offers their
opinion (P) but does not support this
with evidence from the text.

The candidate is aware of the
dramatic methods used (AN).

@ The candidate shows they are
aware of the methods used (AN),
but their comment about the ‘bond’

| is unconvincing (P).

@ The candidate offers their
independent opinion (P) but this
is not supported with evidence
from the text and could be more
convincing (K).

e The candidate demonstrates
that they have a straightforward
knowledge of the mother’s role
(K) but they need to link this more
clearly to the question (C).

12
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low, continued
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Examiner comments

The candidate shows an
awareness of the effects and
provides broad evidence for this
(AN).

The candidate gives a personal
response to the mother (P) and
shows some awareness of the
construct (AN).

@ The candidate asserts their view
of the role of Kate (P) but does not
link this directly to the task (C). They
touch on the effects the writer uses
in the text, for example ‘building
drama’, but they don’t demonstrate
this.

The candidate offers a general
conclusion and includes some of
their own personal response (P).

The candidate shows their
general knowledge of the text (K)
and some understanding of the
characters’ roles (U). They place
some focus on the task indirectly
by discussing the characters (C)
and offer some relevant personal
response (P).

Total mark awarded =
10 out of 25

How the candidate could have improved their answer

To improve their answer, the candidate needed to offer a clearer and more specific focus on the question, ‘the
relationship’ and provide more evidence to support their opinions.

The candidate needed to closely analyse some of the details of the passage and explore the effects of the dramatic

methods used in the text.

The candidate could have made their points more explicit rather than allusive, for example when refering to ‘the

letter.’

Common mistakes candidates made in this question

Some candidates lost sight of the question. They needed to keep it firmly in focus and explore some of the details

of the passage in an analytical way.

Some candidates did not construct their arguments or develop their interpretations fully enough, and needed to
analyse some of the details of the passage.

Many candidates did not look widely enough at other dramatic methods beyond the language and the stage
directions, such as tone and action. Many candidates did not consider the context of the passage when

constructing their answers.

1
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Example Candidate Responses — Paper 1

Question 7(b)

Example Candidate Response — high Examiner comments
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@ The candidate begins their

. | answer with a personal response

| (P)

9 The candidate gives a good
introductory summary of the
poetic situation and shows good
knowledge (K and U), analysis
of tone (AN) and other possible
interpretations with secure
expression which are clear and
precise, for example ‘oracle like
prediction’.

e The candidate makes a very
good link to the wording of the
question (C).

o The candidate looks closely at
the language used (AN) and makes
a relevant interpretation (P), for
example ‘sombre mood’.

@ The candidate looks at other
poetic methods (AN) and shows
their understanding of the meaning
of the poem (U).
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Example Candidate Response - high, continued
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Examiner comments

Q The candidate needs to make
clear links to this interpretation (C),
but their personal response to the
answer is sound (P). They could
develop their analysis of the effects
of the language more (AN).

@ The candidate’s answer links to
the question here (C).

@ The candidate makes an
unfortunate error as they show a
lack of contextual knowledge (K)
and this poem is not of the ‘romantic’
era. However, it is good that the
candidate mentions the poetic
structure and historical context.

Q The candidate makes a good
analysis (AN) and interpretation (P)
of the text with specific references to
details of the text.

@ The candidate develops their
argument well (P) with good support
(K and U) and uses coherent
expression (C).
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Example Candidate Responses — Paper 1

Example Candidate Response - high, continued Examiner comments
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R o o cxout Q%ﬁ@@__)\“ Maas | | to make this more telling. The
6\(1)(\60\ Aae, morodaex beolewes ek | | candidate needs to analyse the
Weoir  \ove wN\ CeExEX a0 106k \oting effects of the language, for example

oo, Yoot vook faeie kelwnse and | | stars’in more detail
MO_YL—W_&O,\%}/@@E%\S&V\&M W_D_x__ @ The candidate gives a valid
Qe Lo Noem =T SR MR v " | interpretation of the meaning and
me)vsﬁ‘(\()ré \ Ve, \OQ‘(\& S TA w\d\)v\lwu\)\a& 2@ the tone (K and AN).

bYd\\(\;f@/ ,\(‘m@ \?f m o M‘cb\b’ | @ The candidate needed to plan
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WK)\'\ CAE MMQN\W O? (ﬁ)ﬂ!\r{/r consider ‘atmosphere’ much earlier

8o Q_QLQL\L\’ME@_Q_. A DaeetRR | i thei .~
.‘\\ S/M 0 EN mew\ j\;@g’m Qe in their answer (C)
Grected %o Wb veex Nees \nodses Hve, otk ] ata "
=Wk, ‘g@ QXOEX\QX‘C‘L Woe \0\1&. ’Wzrﬁ good response to epoem.( )

@ The candidate gives a very

\%ﬂm 2R QKS %CM‘(\’QS & ﬁ o e Wlth a §uppoﬂed interpretation
which is well focused on the task

)5 \}&\ ‘&(\mﬁo mcw\ ax Cﬂd mS\:WQ (C). At times they give a perceptive
0 VLDt mx\ﬂ\ {“_; analysis of the methods and some
' > - | of their effects (AN). The candidate’s

expression is clear and their answer

e gom ouy \ilhon,  Bullexr Neoks, is well organised (C).

m\oﬁ\w\&b o wmmm_%nm_ E@Q&Y\é
W\r‘ouﬁ\n 1Y VC&X&\A “n \A\(\\U\/\

bddutdsed. s \eft o owwx\é\\ G
GEC8S 6. CONEXanuncs 0f @‘EM mpmmt
e Bae, gRicsRIcOVs Love A e, '
MMHB@%_,MKUMMW@K@M “~| | Total mark awarded =

@ 22 out of 25

How the candidate could have improved their answer

« To improve their answer, the candidate needed to clearly explain the context of the poem and it's meaning
(Knowledge and Understanding) and this would have supported their interpretation of the text.

» The candidate needed to develop their analysis of the effects used in the text more fully.

» To improve their answer, the candidate needed to refer to other poetic methods such as rhythm and rhyme.

» The candidate could have demonstrated a better knowledge of the text, particularly the third stanza which they did
not seem to understand as clearly or discuss in the same level of detail.
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Example Candidate Response — middle Examiner comments
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@ The candidate begins their
answer with a general introduction
which suggests a possible structure
for their response (C). However,
their introduction lacks an overview
of the poem (K) and (U).

e The candidate needs to give a
more convincing interpretation of the
effect of ‘when’ (P), but they do look
at the language used (AN).

The candidate gives a sound
interpretation (P) and begins to
analyse the effects used in the text
(AN).

The candidate offers a further
interpretation (P) and an analysis
of the effects the writer has used,
which they support with specific
evidence from the text (AN).

@ The candidate makes a good
start and explores relevant details
in the text (P and AN), but these
are not linked to an interpretative
context (what is the poem about)
so do not give substance to the
comments they make.
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Example Candidate Response — middle, continued
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Example Candidate Responses — Paper 1

Examiner comments

0 The candidate demonstrates
better communication (C) here, as
the theme of ‘time’ here links to
the idea of ‘aging’ in the previous
paragraph.

@ This is not evidence of the past
tense.

e The candidate needs to
develop the argument (P) in a more
convincing way here (C).

Q The candidate discusses
‘emotions’ which links to ‘feelings’
stated in the question, but they
need to make this link more clearly
and precisely. The analysis is in its
early stages when the candidate
considers ‘love’.
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Example Candidate Response — middle, continued
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Examiner comments

@ The candidate attempts to
interpret the text in a relevant way,
but is hampered by their lack of
knowledge of the text and its context

(K).

m The candidate neatly links back
to their introduction (C).

@ The candidate identifies literary
features (though ‘imagery’ becomes
‘image’) and they support this with
evidence from the text.

@ The candidate identifies another
poetic method and supports this
with an example from the text(AN).
Their use of the word ‘presents’
shows they have an awareness of
the question (C).

@ The candidate analyses another
poetic method and its effect and
supports this with evidence from

the text (AN), but their interpretation
could be developed further (P).

@ The candidate identifies more
poetic features and supports these
with examples from the text (AN) but
they show a limited understanding
of the effects used in the text

and need to link it to the overall
interpretation (C).
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments
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@ The candidate offers an
interesting personal response which
N shows independence (P). They link

° . it broadly to the topic ‘the speaker’s
feelings’.

Ouvsmaid,__Yeoks predenis  Ree Specxecs Ceo \lvxr\\‘
S Pacoadag Yedks eodNanloes l%_@%_%ﬂ%&
candh cMeRon (3Wick erecaleoh o fRe. A?.\'.\cﬁ__g{.
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@ The candidate broadly repeats
some points that they have already
made. This refers back to the task
but it is limited by their lack of
textual and contextual knowledge
(K).

This response is organised,
and the candidate links their
paragraphs appropriately, with
coherent and clear expression and
some appropriate critical vocabulary
(C). The candidate considers poetic
methods and their effects (AN) and
offers an interpretation which is
supported and partly developed (P).

Total mark awarded =
16 out of 25

How the candidate could have improved their answer

« To improve their answer, the candidate needed to demonstrate their understanding of the meaning of the poem and
their knowledge of its context. This would enable them to give a fully developed and appropriate interpretation of
them poem.

+ The candidate appeared unaware of the ‘poetic situation’, this reads as though candidate is responding to an
‘unseen’ poem. To improve their answer, they needed to be familiar with the poetry that was to be covered in the

question.
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Example Candidate Response — low Examiner comments
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e The candidate gives a general
overview of the poem (K) which

{ | lacks contextual points and does not
GnO. B0 4o experedsy e {peakets jeuan. not demonstrate an understanding

e watel beans ‘o uding TOO% o terl of what the poem is about (K).
OL \(\Qqc,;t\vo. one YO Exox@,&& -\‘(\Q, —W—Q\‘“cb O the '
\DQQ\\“QM Oy HnQ \SPQCL\CU W Mne ‘oeﬂmm‘\q
Maoxe- 8 o toa o_\ uoeory ‘\DQ\‘(\.\ qu,n by
e W Speotex R dpenley AEem\e\ ’1\8 o uo\\ijv riech
awsur ¥e  jutune. vother than v pase anc @) || @) The candidate shows an
X\O\\JW\C\ AL C\qve, o \ovamq old S e écuu awareness of poetic methods, for
\Wen \\ou are od_awa ey ancl qul 04 I | example ‘tone’ (AN). They make
a partly relevant reference to the
question, for example ‘speaker’s
feelings’ (P).
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Example Candidate Response —

low, continued
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Example Candidate Responses — Paper 1

Examiner comments

o The candidate offers an
interpretation of the poem (P)
which is partly relevant, but they
need to show more contextual
understanding.

@ The candidate shows a lack

of knowledge and understanding

of the poem (K and U) and they
conflate the speaker and the person
addressed in the poem (P).

The candidate considers the
poetic methods used in the text, for
example structure and capitalisation
(AN) but they need to demonstrate
more knowledge and understanding
to make their opinion more
convincing (P).

e The candidate’s answer is
more relevant and supported here,
although they only give a partial
interpretation of the poetic methods

(AN and P).
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Example Candidate Response - low, continued
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Examiner comments

e The candidate considers the
effects of language albeit in a
straightforward, unanalytical way
(AN).

Q The candidate gives a clear

example of the poetic methods with
examples from the text and shows a
broad awareness of its effects (AN).

@ The candidate observes the
poetic details in the text but does
not explore or analyse them (AN
and P).

m This is an abrupt ending which
indicates a lack of planning and time
management (C).

@ The candidate focuses on the
task (C) and gives some personal
responses to the attitudes to
aging (P). The candidate mentions
relevant poetic methods (AN) and
shows a broad awareness of their
effects. Their expression is usually
clear and they use some relevant
critical vocabulary with a generally
organised approach.

Total mark awarded =
12 out of 25

How the candidate could have improved their answer
The candidate’s knowledge and understanding of the poem was limited. To improve their answer, the candidate
needed to better demonstrate their understanding of the poetic situation (K and U).

The lack of context (K) in the candidate’s answer meant that their interpretation was only broadly on task (P). To
improve their answer, the candidate needed to demonstrate their knowledge of the context of the poem.

To improve their answer, the candidate needed to analyse in full the effects of the writer’s choices (AN).

Common mistakes candidates made in this question

23

Many candidates did not know the text well enough to be able to offer a fully valid interpretation. Many candidates
struggled to explain some of the references, but with a thorough knowledge of the poem and its context they would
have been able to. The lower level answers appeared to read as though they were responding to an ‘unseen’ poem
and this held candidates back in terms of the depths of insight and understanding they were able to demonstrate.

Many candidates commented on the language used, but candidates needed to remember that there is much
more to the experience of reading a poem than just the words used. Many candidates could have improved their
answers with a clearer focus on the poetic experience so that such important elements as structure, rhythm,
imagery and rhyme could have been addressed. They needed to explore how these elements affect the poem’s
impact on the reader and help to shape its meaning.




Example Candidate Responses — Paper 1

Question 9(a)

Example Candidate Response — high Examiner comments
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@ The candidate acknowledges
the question and quotation and
suggests alternative views (C).

9 The candidate recognises the
construct here ‘Forster...” (AN).

AN
)
/AZ@ @ The candidate links a relevant
textual example to the task (K

and C) and has awareness of the
author’s role (AN).

4A 4 4)222@599‘ )
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Wﬁ’-ﬂ// )'g. M o Mb'
/%W / ? Aa// /1/ /// A/ lg/

o The candidate develops their
interpretation well (P) and shows an
understanding of the concerns (U).

.| They fluently integrate their chosen
" | examples (C).

e The candidate demonstrates
good textual knowledge (K) to
develop their argument (P) with
some awareness of the concerns

(U).

| @ The candidate keeps the
focus on the task (C). They offer
some supported opinions (P) with
an analysis of the methods in the
implicit contrasting of Helen and

| Henry’s attitudes (AN and K).

sz St i o, / @ The candidate neatly keeps the
dr / _ﬁmé_ 222 %_/_% - 1| question and quotation in focus (C).
/‘4/ JMZM/Z%M //;r’/ i /éu; ' A, Srrion //)fgﬂ;
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Example Candidate Response - high, continued

Examiner comments
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The candidate makes a brief
contextual reference (K and U), but
they need to develop it in a way
relevant to the task (C).

Q The candidate makes some well
selected textual references (K) and
a developed interpretation which is
relevant to the task (P and C).

@ The candidate makes a good
development into Forster’s concerns
(U and P).

The candidate gives a a well
argued interpretation and shows
some independence of thought (P).

@ The candidate keeps the
question and quotation in focus (C).

@ The candidate could develop
this ‘symbol’ and link it to the ‘plot’
more directly (C and AN).
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Example Candidate Response - high, continued

Example Candidate Responses — Paper 1

Examiner comments
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@ The candidate selects some
relevant answers from the text (K)
to support the argument (P). They
demonstrate a good understanding
of the concerns (U).

@ The final paragraph is is
summative rather than a conclusion
to the argument. It needs to refer
back to the question or quotation
(C).

@ The candidate demonstrates

a very good knowledge and
understanding of the text, using
well selected examples throughout
essay. They give a well informed
and supported interpretation of
Helen and her role and show
independence of thought and at
times perception. The candidate’s
answer is well organised and stays
mostly focused on the task, with well
organised paragraphs and fluent,
clear expression.

Total mark awarded =
22 out of 25

How the candidate could have improved their answer

The candidate’s answer did not fully address how Forster portrayed Helen. To improve their answer, the candidate
needed to be more familiar with the genre, have an awareness of the methods appropriate to a novel and more

understanding of the effects of Forster’s choices in the text.
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Example Candidate Response — middle Examiner comments
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@ The candidate begins with a
general introduction (C). They set
their own agenda and ignore the
question and given quotation.

9 The candidate gives a personal
response in this relevant opinion (P).

@ The candidate’s detailed
specific reference to the text shows
they have sound knowledge (K).

o The candidate links their answer
to the question (C) and offers a
relevant interpretation (P).

@ The candidate uses a sound
structure and the response is well
organised (C).
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments
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(U and K).

9 The candidate makes another
mention of Forster, demonstrating
an awareness of the construct (AN).

He'» s 18, nar-nl;rcu,wcl 'La _L@VL_MQ __ Gin nc;;LJl_Q
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Lokt U,.p— Dhoater  onl OLM g,c] “Lvo question and the quotation (U and
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13'!,: H p,)pn 18 {:L,,Jr n?c o% tandi | d 9 d
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— candidate’s opinions are relevant in
il el JW.M ciosilneibiosbo b g(LLmﬁ_ reference to Helen. They begin to

Mame@e% @_@ analyse the reference to Forster and
the comparison with Margaret.

Total mark awarded =
15 out of 25

How the candidate could have improved their answer

» To improve their answer, the candidate needed to focus more on the specifics of the question, even though the
quotation was referenced in the essay. They also needed to give more consideration to Forster’s methods and their
effects on the text, and show more understanding of the genre and context within which the text sits.
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Example Candidate Response — low
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Examiner comments

o The candidate gives a general
introduction which needs a direct
reference to the question or the
given quotation (C).

The candidate demonstrates
relevant knowledge (K) and some
personal opinion about the use of
‘idealistic’ (P). The candidate offers
support from the text (K and C).

e This is a partial response, but
the candidate has the question in
mind (C).

o The candidate begins to
analyse (AN) the methods and
textual knowledge (K).

The candidate demonstrates
a solid knowledge of the text and
selects relevant examples, (K).
They show an appreciation of some
concerns, for example social and
class issues (U).
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Example Candidate Responses — Paper 1

Example Candidate Response - low, continued Examiner comments
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Example Candidate Responses -— Paper 1

Example Candidate Response —

low, continued

PiSce. \:o\ Pece. A%e/ Lecnoré \emves i G goe due

Lo Ve Ox\‘nse, Forn M \!\('\tox oo @xe ) \’ekfewgneé

‘Cv\ bie e \n\o \\\s Ronce \)O\c\«\f‘_ Elle i\ Forgker

5\‘:(1.0’: \‘\OUU muc}\ \)fée:r\ :713166 éme @m;bs&_e_

Gmf\‘z._c; Shods e W\rs b bodico Yoy AMPTOVe.

| Bneie \vess Soc Brern, \Qr\\c\n e\/ex\‘w\o\\\x \e,qi

bo Leanedd |

Rk Eeing billed, “e\er\e \A\N\ne% [N VA s oad |

Q\\ Q\\&\; B

Couse Yer ko ma\Ae, a_Jdedsion \an»er)

an emol:\on ex('\g Hack e b Fove, e U)\)::.\r\ m

Mﬁ BG\éh W\(\\e '\"\\'5 Conch

5 N in Bae cexk coom.

Toreker Sons ek Velen acks o A

Surrent

: vee\iﬁi\)e :lx)‘\\o\r\ Wos \Q-ee‘)\ﬁs %arr\; L i P =®___‘

®

Examiner comments

9 The candidate offers an
interesting view of Helen (P) which
they support with evidence (K),
although they need to shape their
answer to the task (C) and consider
the effects of this (AN).

The candidate needs to explain
how this is relevant to the question
(C and U).

@ The candidate needed to make
more this point, given the quotation.
They make a useful reference but it
is too late and they need to explore
and analyse it further (U and AN).

@ The candidate needs to give a
clear conclusion and refer back to
the question (C).

@ This candidate shows a sound
knowledge and some understanding
of the concerns. They select
relevant material to discuss, offer
generally relevant opinions and
show some awareness of the genre
and methods.

Total mark awarded =
12 out of 25

How the candidate could have improved their answer

« To improve their answer, the candidate needed to focus more clearly on the terms of the question.

» The candidate offered a little detailed analysis of some of Forster’'s methods (‘How does Forster portray Helen?’),
but to improve their answer they needed to demonstrate more direction and organisation, for example they could
have included an introduction and conclusion.

* Needed to show a sense of contextual awareness.

Common mistakes candidates made in this question

» Many candidates did not focus sufficiently on the question and in this case the given quotation. Many candidates
demonstrated their knowledge of the text and were able to cite relevant parts of it to support their views, but their

supporting evidence was not fully shaped to the task to answer the question.

+ Many candidates did not demonstrate their understanding of the genre and which methods a novelist has at their
disposal to create effects in the text for the reader. They made little reference to the language choices and did not
mention key elements such as the use of dialogue, the narrative structure, use of the third person narrator and so
on. Any of these elements, analysed to show how they create effects for the reader, would have provided good

material with which to address the task in a more literary and analytical way.

* In some cases, candidates only implied a sense of the context within which the novel was written. Some
candidates referred to the Edwardian period, but they did not develop this point into a supporting argument about
Helen’s role and how the historical context might have informed Forster’s choices.
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